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Figure S1. Wind pressure variation curves for each tree on profile 1 at a wind speed of 10.3 m/s:
(a) Tree #10; (b) Tree #7; (c) Tree #4; (d) Tree #1.
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Figure S2. Wind pressure variation curves for each tree on profile 2 at wind speed 10.3 m/s: (a)

Tree #11; (b) Tree #8; (¢) Tree #5; (d) Tree #2.
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Figure S3. Wind pressure variation curves for each tree on profile 3 at wind speed 10.3 m/s: (a)
Tree #12; (b) Tree #9; (c) Tree #6; (d) Tree #3.
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Figure S4. Wind pressure variation curves for each tree on profile 1 at a wind speed of 13.4 m/s:
(a) Tree #10; (b) Tree #7; (c) Tree #4; (d) Tree #1.
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Figure S5. Wind pressure variation curves for each tree on profile 2 at a wind speed of 13.4 m/s:
(a) Tree #11; (b) Tree #8; (c) Tree #5; (d) Tree #2.
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Figure S6. Wind pressure variation curves for each tree on profile 3 at a wind speed of 13.4 m/s:
(a) Tree #12; (b) Tree #9; (c) Tree #6; (d) Tree #3.
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Figure S7. Wind pressure variation curves for each tree on profile 1 at a wind speed of 17 m/s: (a)
Tree #10; (b) Tree #7; (c) Tree #4; (d) Tree #1.
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Figure S8. Wind pressure variation curves for each tree on profile 2 at a wind speed of 17 m/s: (a)
Tree #11; (b) Tree #8; (¢) Tree #5; (d) Tree #2.
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Figure S9. Wind pressure variation curves for each tree on profile 3 at a wind speed of 17 m/s: (a)
Tree #12; (b) Tree #9; (c) Tree #6; (d) Tree #3.



